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C-902

B.Com. (Part-I) Examination, 2015

(Regular & Exempted)

Business Organization

Time Allowed : Three Hours ] [ Maximum Marks : 100

Note : Answer five questions in all. Question

No.1, which carrying 40 marks, is com-

pulsory. Attempt one question carrying

15 marks from each unit.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb.1 efpemekesâ 40
Debkeâ nQ, DeefveJeeÙe& nw~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve efpemekesâ
15 Debkeâ nw, keâerefpeS~

1. Answer the following in brief : 40

eqvecveefueefKele kesâ Gòej meb#eshe ceW oerefpeS :
(i) Should profit maximization be the goal

of business?

keäÙee DeefOekeâeefOekeâ ueeYe keâceevee JÙeeheej keâe GösMÙe nw?
(ii) Differentiate between partnership and

company.

meePesoejer SJeb keâcheveer ceW Devlej ~
(iii) Types of business environment.

JÙeeJemeeefÙekeâ heefjÂMÙe (heÙee&JejCe) kesâ Øekeâej
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(4)

DeefOekeâejesb kesâ Yeejehe&Ce mes Deehe keäÙee mecePeles nQ? Fmekesâ efmeæevleesb

keâer efJeJesÛevee keâerefpeS Deewj efJekesâvõerkeâjCe mes Devlej Yeer keâerefpeS~

7. Write short note on the following:

efvecveefueefKele hej mebef#ehle efšhheefCeÙeeB efueKeW :

(i) Functions of stock exchange in India.

Yeejle ceW MesÙej yeepeej kesâ keâeÙe&

(ii) Distinguish between stock exchange and

produce exchange.

mkeâvOe efJeefveceÙe Deewj Ghepe efJeefveceÙe ceW Devlej

Unit-IV/FkeâeF&-IV

8. What are the requisites of a sound organiza-

tion? Explain the Graicunas theory of

organisation relationship.

Skeâ mJemLe mebie"ve keâer ØecegKe DeeJeMÙekeâ yeelesb keäÙee-keäÙee nQ?

«eskegâveeme kesâ mebie"ve kesâ mebyebOeeW kesâ efmeæevle keâer JÙeeKÙee keâerefpeS~

9. What do you understand by incentive wages

system? Point out its essentials and enumer-

ate its various forms.

ØesjCeelcekeâ cepeotjer heæefle mes Deehe keäÙee mecePeles nQ? Fmekesâ

ØecegKe ue#eCe yeleeFS leLee efJeefYeVe ®heeW kesâ veece yeleeFS~



(iv) What are the causes of origin of combi-

nations?

mebÙeespeve kesâ Godiece kesâ keäÙee keâejCe nQ?

(v) Suggestions to over come barriers to

delegation.

Yeejehe&Ce ceW yeeOeeDeeW keâes otj keâjves kesâ efueS megPeeJe~

(vi) Factors which determine the optimum

size of business unit.

JÙeeJemeeefÙekeâ FkeâeF& kesâ Devegketâuelece Deekeâej keâes efveOee&efjle

keâjves Jeeues keâejkeâ~

(vii) Principles of an ideal wage system

DeeoMe& cepeotjer ØeCeeueer kesâ efmeæevle

(viii) Process of production planning and con-

trol

Glheeove Ùeespevee Deewj efveÙeb$eCe keâer Øeef›eâÙee

(ix) Importance of produce exchange

Ghepe efJeefveceÙe keâe cenlJe

(x) Opposition of Rationalisation

efJeJeskeâerkeâjCe keâe efJejesOe

Unit-I / FkeâeF&-I

2. “The one-man control is the best in the world

if that man is big enough to manage every-

thing.” Explain this statement.
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‘‘Skeâekeâer JÙeeheej efJeMJe ceW meJe&ßes‰ nw Ùeefo Jen Skeâ JÙeefòeâ

Flevee yeÌ[e nw efkeâ JÙeJemeeÙe keâes Yeueer Øekeâej mebYeeue mekeWâ~’’ Fme

keâLeve keâer JÙeeKÙee keâerefpeÙes~

3. “Social responsibility of business is two way

traffic.” Explain.

‘‘JÙeJemeeÙe keâe meeceeefpekeâ GòejoeefÙelJe efÉhe#eerÙe ef›eâÙee nw~’’

JÙeeKÙee keâerefpeS~

Unit-II / FkeâeF&-II

4. Define production management? Discuss the

function and importance of production man-

agement.

Glheeove ØeyevOe keâes heefjYeeef<ele keâerefpeS? Glheeove ØeyevOe kesâ

keâeÙeeX leLee cenlJe keâer efJeJesÛevee keâerefpeS~

5. "Rationalisation is as full of pitfall as it is of

promises.” Explain it also distinguish the

rationalisation and combination?

‘‘efJeJeskeâerkeâjCe kesâ ceeie& ceW Fleves ie[d{s nQ efpeleveer meHeâuelee keâer

DeeMeeSB’’~ JÙeeKÙee keâerefpeS leLee efJeJeskeâerkeâjCe Deewj mebÙeespeve ceW

Devlej keâerefpeS~

Unit-III / FkeâeF&-III

6. What do you understand by delegation of au-

thority? Discuss its principles and also differ-

entiate it from decentralization.

(2) (3)


